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KEY FOR CLASS : 06

Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions

03 Option (C) is the correct answer. Its homophone is : ‘Shoo’.
05 Option (A) is the correct answer. It is ‘always’.
07 Option (C) is the correct answer. The syllables are : ‘con-fec-tion-er-y’.
08 Option (B) is the correct answer. The correct spelling is : ‘Millennium’.
09 Option (D) is the correct answer. The the four words are : inlets, listen, silent, tinsel.
10 Option (B) is the correct answer. It is the same spelling for its plural.
15 Option (B) is the correct answer. The subject is ‘layer’, a singular and it doesn’t rule the earth.
16 Option (C) is the correct answer. ‘One of’ so a plural is required.
25 Option (C) is the correct answer. The phrase ‘as well as’ is not a conjunction and neither does it function

as one. That leaves ‘Krishna temple’ the singular subject to agree with the verb. And ‘was’ can’t fit in.
30 Option (D) is the correct answer. ‘Ampersand’ is a symbol for ‘and’; and a cipher is for a zero.
31 Option (B) is the correct answer. It is the only one that changes its spelling with tense forms.
32 Option (D) is the correct answer. The reporting verb (will say) being in future tense, there is no change of

tense in the reported speech without quotes.
33 Option (C) is the correct answer. The statement being a universal truth, there is no change of tense in the

reported speech without quotes.
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